GOVERNMENT OF WEST BENGAL

DIRECTORATE OF SCHOOL EDUCATION

CENTRALLY SPONSORED NATIONAL MEANS-CUM-MERIT SCHOLARSHIP
EXAMINATION, 2022
(FOR STUDENTS STUDYING IN CLASS VIII)

Mental Ability Test

Class-VIII Code State Code

Year Code Centre Code Serial No.

Roll No. 1

Full Marks : 90
Time: 90 minutes (10-30 AM to 12 Noon)

Instructions to Candidates

Read the instructions carefully before you start
answering the questions. Answers are to be given on a
OMR Answer-Sheet provided.

1. In this Paper you are to answer 90 questions.
Each question carries 1(one) mark. You are to answer
all the questions.

2. Before you proceed to mark in the OMR
Answer-Sheet find out the correct answer from the four
alternatives (a), (b), (c) and (d) against each question in
the Question Booklet. Darken the circle with a Black
Ball Point Pen, to the corresponding correct answer for
the item in the OMR Answer-Sheet.

Example : @ . @ @

(Here ‘b’ is the correct answer.)

3. If more than one circle is encoded or darken
against a particular answer, it will be treated as a wrong
answer.

4. There will be no penalty marks or negative
marking for a wrong answer.

5. You are to start recording answers with the
‘start’ instruction from the Officer-in-Charge of your
room/hall.

6. You are to write your Name and Roll No. in
the space provided with for this purpose on the OMR
Answer-Sheet. You must encode your Roll No. in the
OMR Answer-Sheet.

7. The OMR Answer-Sheet should be handed over
to the Invigilator before leaving the Examination Hall.
You may take away the used Question Booklet after
completion of the examination.
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MENTAL ABILITY TEST

(Questions 1—10)

DIRECTION: In each of the questions
1 to 10, there are four items, three of which
are alike by some means or other while one is
out of the class. Find out the odd item and
give the answer by filling the circle of the
letter denoting your selected answer on the
O.M.R. Answer-Sheet.

(e 1—10)
[fed ¢ 1 (A 10 7= 2ter 2 5196 63+

(R, AR T (@I N (@FIETSIE GFaF a3
B! ST | G ST AU IS A A
Teafs v S @t O.MLR. Teavitas WS
TG 9J7° I (O T e S ]
1. (a) 73
(b) 53
(c) 59
(d) 87

2. (a) 427
(b) 396
(c) 671
(d) 264

3. (a) ACEG
(b) KMOQ
(c) SUWX
(d) IKMO

4. (a) Chocolate (5(FIC0)
(b) Biscuit (7%5)
(c) Bread (#I1%=f5)
(d) Cake (=)

S.

10.

(a) Patna (=ii5=1)

(b) Kanpur (F95)
(c) Lucknow (&72e)
(d) Lahore (s1it29)

(a) Glass (&)
(b) Bottle ((ar®s7)
(c) Tap (1)

(d) Bucket (3f9)

(a) Light year (SIt=15<¥)

(b) Day ()
(c) Decade (w*iz)
(d) Minute (Wf55)

(a) Valley (Sooi )
(b) River (i)
(c) Mountain (s15®)
(d) Dam (F1%)

(a) Ears (%)

(b) Hands (2r9)
(c) Eyes (i)

(d) Fingers (®hes1)

(@) 19
(b) 49
(c) 64
d) 16



(Questions 11—20)

DIRECTION: Following questions are based
on letter series. In each series some letters are
missing. The missing letters are given in the
proper sequence as one of the alternative. Find
the correct alternative in each case and mark
the right alternative on the O.M.R. Answer-
Sheet.

(e 11—20)
[t 5 Sieost epsiefer s ceifdl scerre el Ao
Ty o T | PR [REEE 1Iire Twe
SRR AME TP A =iz | 2fefb amm
Ao et a1 3 O.M.R. Tezsita e 3 217
I (O Tad e Tl ]
11. a__bbc__aab__cca_ bbcc

(a) bacb

(b) acba

(c) abba

(d) caba

12. bc_b ¢ b _ ccb
(a) cbcb
(b) bbcb
(c) cbbe
(d) bcbe

13. abca_ bcaab__aa_caa_ c
(a) ccaa
(b) acbb
(c) abac
(d) abba

14. _bc_ca_aba_c_ca
(a) bbbcc
(b) baaba
(c) abcbb
(d) abbcc

15.

16.

17.

18.

19.

20.

mnonopqopqrs

(a) ogrst
(b) mnopq
(c) grstu
(d) pqrst

sttt tts

(a) tsst
(b) tsts
(c) sstt
(d) ttst

gfe__ig_eii_ fei_ gf ii

(a) ifige
(b) ifgie
(c) eifgi
(d) figie

PX_Pq_Xpp_p__p_q

(@) ppgxq
(b) ppxqp
(©) pgxqgp
(d) ppgxp

pil_o_p_1l_o

lloo

(a) lippoo
(b) ollpio
(c) loopil
(d) loiopi

cVV__
(a) ttveev
(b) ctvvtc
(c) tvcety
(d) ttvevt

_Cc_vtt_v__

t



(Questions 21—30)
DIRECTION: In each of the following
questions, a number of series is given with one
of the terms missing. Choose the correct
alternative in the position (?) that will continue
the same pattern and answer on the O.M.R.
Answer-Sheet by filling the circle.
(e 21—30)
(o ¢ Siovs 2ifsl 2iesl g A ceifefs ey @3l
FRRAP] AW (S =R | A (ifeice T ( 2) ez
F A% Teas 0.M.R. Teasitas g 3¢ 73
I (O T RIS Tl ]
21. 8,24,12,36, 18, 54,?

(a) 24

(b) 108

(c) 27

d 72

22, 3,7,10,17,27,?
(a) 37
(b) 40
(c) 47
(d) 44

23. 1,5,14,30,55,?
(a) 80
(b) 91
(c) 101
(d) 95

24. 7,10,8,11,9,12,?
(@) 13
(b) 12
(©) 11
(d) 10

25.

26.

27.

28.

29.

30.

5,6,9,14,21,?
(@ 25
(b) 27
(c) 30
d) 32

71,55, 46,42, ?
(a) 38
(b) 39
(c) 40
(d) 41

4,9, 20,43, 90, ?
(a) 180
(b) 182
() 179
(d) 185

3,8,11, 19, 30,49, ?
(a) 87
(b) 79
() 77
d) 73

3,5,10, 12, 24, 26, ?
(a) 52
(b) 30
(c) 28
(d) 48

2,3,5,6,7,9,10,11, 13, ?
(a) 12
(b) 15
(c) 14
(d) 16



(Questions 31—45)

DIRECTION: In each of the questions 31 to
45 a figure or a set of figure is given, each of
which bears certain numbers following a
certain pattern. You have to decipher this
pattern and accordingly find the missing
number in the figure and denoting your
selected answer on O.M.R. Answer-Sheet.
(er 31—45)

[t 8 31—45 7@ folb 2iesl apevz oo e |
Afefs fora =i fiie fog ket w12t =it et
Sz | g3 RIS w2l Tl g it [T
rPTEs TECR | CONIR e 261 @2 R J@
% Teas O.M.R. Tezsitaz [ Je 739 F
Tex e /41 1]

31.
21 28 42 18 27 45 24 36 60

T

(a) 11
(b) 9
(©) 8
(d) 6

32.

95

98

99

97

97

99

98

95

(a) 3
(b) 4
(c) 0
(d) 5

33.

34.

3s.

EPACI ALY

84

81

88

14

18

11

(a) 21
(b) 16
(c) 81
(d) 61

16 | 25

36 | 64

81

10| ?

12

(a) 11
(b) 14
(c) 13
d) 15

(@) 7
(b) 3
© 2
(d) 4




36. 39.

5 4 8 9 6 8 3 8 5
? 17
5 (60| 2 4 1480| 3 6 | ?2] 3

2 5 1

(a) 17
(b) 20 (a) 653
©) 27 (b) 563
) 30 ©) 15

(d) 90

37.
40
45 36 2

ols| [6]|6| |80 ) @ @ ) @ @
@ 80 (14 @) (@

(b) 54

(c) 44 (a) 24
(d) 98 (b) 31
(c) 23
(d) 47
38.
3 11 7 41.
25 5 w58 ) 5®11 Il
7 2 2 12] 18]
(a) 770 (a) 20
(b) 780 (b) 21
(c) 440 (c) 23

(d) 540 (d) 24




42.
(28) (49) ©
(a) 50
(b) 123

() 275
(d) 84

43.
() ) @)
(a) 249
(b) 321

(c) 285
(d) 341

44.

20

15

(a) 22
(b) 20
(c) 18
(d) 24

45.

16

36
64

(a) 3
(b) 4
(c) 8
(d) 6

(Questions 46—50)

DIRECTION: Study the figure carefully and
answer the questions from 46-50. The triangle
represents doctors, the circle represents
players and the ractangle represents artists.
(e 46—50)

(ot 3 Tieee <61 S w6 (el @R (46-50)
THES TR Ted wie | fiew (triangle) ©rETR
(doctors)-ra  effefafay e, Je (circle)
RS (players)-rd dfefafag Facz | wTersa
(ractangle) & (artists)-ora afefafag Faz ]

P

[25~ 4

22 N3 D

30

46. How many doctors are both players
and artists?

IO TG, (ARG @ st 75iE 2
(a) 6
(b) 8
(c) 4
d) 3



47. How many artists are players?
FoG REHE GG I @S AN 2
(a) 30
(b) 29
(c) 25
d 17

48. How many artists are neither players
nor doctors?

oG RE, CATEITG T TIeF e 2
(a) 29
(b) 30
(c) 22
d 8

49. How many doctors are neither players
nor artists?

TOGH TG, AT At s 7w 2
(a) 17
(b) 30
(c) 8
(d) 19

50. How many players are neither artists
nor doctors?

FoGE RETNT HE A TeR @IEite
e ?

(a) 22

(b) 4

() 25

(d) 3

(Questions 51—60)

DIRECTION: In each of the questions 51 to
60, three out of four figures are alike in same
respect and one is different from others. Find
out the odd figure in each question and
indicate your answer by filling the circle of the
letter denoting your selected answer on the
O.M.R. Answer-Sheet.

(e 51—60)
o s 51 (2 60 +If® omefm droia

medl 51l vfHcad W foal @ E-T-@iEeiE
GBI R ST (A S | 2fslT e @3
et foafls @9 Fea Afda Tl v w93
O.M.R. Teavita % g€ 574 F= cola Teq
e e 1]

1.
i s
(a) (b) (c) (d)
52,
A O
(a) (b) (c) (d)
53.

Py
O

B'g Pq

VN
O

(a) (b) (c) (d)



54.

A A A A
OLA OO
77N

59.
- X | x + | - x | O +
+ O + X
] —_ + —_ O + + —_
(a) (b) () (d)
60.

D

(a) (b) (c) (d)

(Questions 61—85)

DIRECTION: In each of the following
Questions select a figure from the four
alternatives which placed in the blank space of
figure would complete the pattern. Indicate
your answer by filling the circle of the letter
denoting your selected answer on the O.M.R.
Answer-Sheet.

(et 61—85)

(ot & Tiwa 61 (AT 85 1% aiafera Wi
w6 et foa (2 @b e 391t foaefar s =i
© e (3 1 Teaft. O.MLR. Tezvicas s 38
5139 I COIIT Ted fwitaie A ]

(a)

(b)

(©)

(d)

[10]

61.
?
(a) (b)
© (d)




65.

(b)
(d)

(b)

(d)

66.

62.

(b) \
(d) %

(a)

(©)

D e
®

(b)

(d)

ﬁ

(a) ~)
(c) ﬂ
ﬁl\

(b)

(d)

ﬁ

(a)

(©

67.

(a)

(©

L

64.

(b)

(d)

(a)

© 1M

[11]



68.

(a)

(©)

69.

(a)

(©

70.

(a)

(©

(b)

(d)

(b)

(d)

(b)

(d)

71.

72.

73.

@ &

(©

(b)

(d)

T

i

(a)

\ (b)

(©

d
\ (d)

© 9 @

<1



74.

(a)

(©

75.

(a)

(©

76.

(a)

(©

(b)

(d)

(b)

(d)

(b)

(d)

77.

78.

79.

(a)

(©

(a)

(©)

(a)

(©

(b)

(d)

(b)

(d)

(b)

(d)




80.

81.

82.

83.

7 N7 N

NN

%

Noal ?

@ | (b)
A\

© [ (@)

L2 |

NI

(@ () (© (@@

NN 2 (T

N T AT N

(@ (b) (© (@

/M

D)

«

Y

D)

N\

«

(@ (b) (© (@

N
N 4

7N
N4

84. <AD 2
olieme

(@ (b) (© (@

8s.
?

(@ (b) (© (@

(Questions 86—90)

DIRECTION: In each of the questions
86 to 90 same codes have been used to write
words. Try to find out the rule of coding in
each case and answer as per direction in the
O.M.R. Answer-Sheet.

(2% 86—90)

[Tt ¢ 86 (2t 90 +1T® 2rofo Ars *=< @
Ty g e qIRE [ 2@ 2 ¢Fa
PO Tl TP F9F (63 I @3
A Teas O.M.R. Tezsitaz e ge 799 F

5N o e
OIS U] M=o Bl ]

86. In a coding system TIE=34,
NOW=52 then what will be code for WAX=?
@ Ao 7ZR TIE=34, NOW=52,
TiEE WAX=? 93 3o J 2(d?
(a) 47
(b) 46
(c) 48
(d) 45



87. In a certain code ‘PLAY’ is written
as ‘TPEC’. How could ‘GAME’ be written in
that code?

M @@ @A PLAY’ -
‘TPEC’ 141 27, ©igs1 ‘GAME’-(F (141 23—

(a) KEQA

(b) KIQE

(c) KAQI

(d) KEQI

88. IfliscodedasF,2asP,3asX, 4as
Z,5asB,6asW,7asL,8as Uand9asD.
How would 853417 be coded in that code?

M @ RFe 3BT 1 & F,2 &P, 3
FXA4FZ,5&FB,6&EW,7&E L, 8 U @R
9 & D @11 27, 9 853417-F &1 2(3—

(a) UBDXZF

(b) UBXDFL

(c) UBXZFL
(d) UDXZFL

89. IfE =5 and HEN =27, then PET =?
Im E = 5 @3k HEN = 27 =3, g
PET =2
(a) 28
(b) 52
(c) 41
(d) 31

90. If cloud is called white, white is
called rain, rain is called green, green is
called air, air is called blue and blue is called
water, where will the birds fly?

T cloud & white J& 27, white &
rain JeTl 23, rain (F green Je1l ¥, green (F air
J&11 29, air (& blue I+ 2 @R blue (& water &1
23, OIEGE ARE @R T 2

(a) Water
(b) Blue
(c) Air

(d) Cloud
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GOVERNMENT OF WEST BENGAL
DIRECTORATE OF SCHOOL EDUCATION

CENTRALLY SPONSORED NATIONAL MEANS-CUM-MERIT SCHOLARSHIP
EXAMINATION, 2022

(FOR STUDENTS STUDYING IN CLASS VIII)
Scholastic Aptitude Test

A5 2w

Class-VIII Code

State Code

Year Code Centre Code Serial No.

Roll No. 1

Full Marks : 90
Time: 90 minutes (1-00 PM to 2-30 PM)

Instructions to Candidates

Read the instructions carefully before you start
answering the questions. Answers are to be given on a
OMR Answer-Sheet provided.

1. In this Paper you are to answer 90 questions.
Each question carries 1(one) mark. You are to answer
all the questions.

2. Before you proceed to mark in the OMR
Answer-Sheet find out the correct answer from the four
alternatives (a), (b), (c) and (d) against each question in
the Question Booklet. Darken the circle with a Black
Ball Point Pen, to the corresponding correct answer for
the item in the OMR Answer-Sheet.

Example : @ . @ @

(Here ‘b’ is the correct answer.)

3. If more than one circle is encoded or darken
against a particular answer, it will be treated as a wrong
answer.

4. There will be no penalty marks or negative
marking for a wrong answer.

5. You are to start recording answers with the
‘start’ instruction from the Officer-in-Charge of your
room/hall.

6. You are to write your Name and Roll No. in
the space provided with for this purpose on the OMR
Answer-Sheet. You must encode your Roll No. in
OMR Answer-Sheet.

7. The OMR Answer-Sheet should be handed
over to the Invigilator before leaving the Examination
Hall. You may take away the used Question Booklet
after completion of the examination.
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Mathematics

and

(@) m=n
(b) m—n=1
(c) m+n=1
(d) m-n=-1

2. The simplified value of
(0:362)° — (0-01)°
(0-362)* +0-00362 + (0-0001)
(a) 0-352
(b) 0-262
(c) 0-252
(d) 0-632

is

3. The salary of a man is decreased by 50%
and then in the next year it is increased by 60%,
then the resultant increment of his salary is

(a) 10%
(b) 15%
(c) —20%
(d) —25%

4. In a four-digit number 4x56, x is
unknown. The number is divisible by 33. Then
the value of x is

(@) 3
(b) 4
(©) 5
(d) 6

5. With an average speed of 40 km/hour, a
train reaches the destination on time. If it runs
with average speed 35km/hour, it is late by
15 mins. The length of the total journey is

(a) 30km
(b) 180km
(¢) 40km
(d) 70km

affere

R

(0362)° —(0-01)° )
" (0362)% +0:00362 +(0-0001)
BICEGH

HIETOY

(a) 0-352
(b) 0-262
(c) 0-252
(d) 0-632

3. @3 Ffea Az 50% F (9, 2179 T=d
© 60% I (At O W7 o7& e 203
(@) 10%
(b) 15%
(c) —20%
(d) —25%

4. 51 OET WA 4x56-97 T x-43 T+
el | A 33 74l Kerey 2@, x-93 WW 25
(a) 3
(b) 4
(c) 5
(d) 6

5.« G 51te 40 km/hour wfers g5 %
NG 918 (=R | IW 9 wis 35 km/hour 2©
o 15 TG mics offzre | am@ieres e 2=

(a) 30km
(b) 180km
(¢) 40km
(d) 70 km



6. The number (a +~/b ) [where b is not a

perfect square] is equal to its own reciprocal.
Then the value of b is

(@ 0

(b) 5

(c) 7

(d) cannot be said

7. The H.C.F. of two natural numbers a
and b is h and their L.C.M. is [, then the value
of a’+b’is [Given, h+I1=a+b]

(a) B+
(b) h+l

(c) W+
(d) -1

8. The measures of a pair of corresponding
angles formed by the section of a transversal
and a pair of parallel straight lines are (2x+65)°
and (6x—35)°. Then the value of x is

(a) 25°
(b) 30
(c) 25
(d) 40°

9. If 2x=3y=4z, then x:y:z will be
(@) 4:6:3
(b) 6:4:3
(c) 3:4:6
d) 6:3:4

10. The remainder, when (x>+3x>+3x+1)is
divided by (x—1), is
(a) 1
(b) O
(c) 2
(d) 8

6. (a+b) [ b spefast 7] el fcera

SN AN | GICFE, b-4F i 25
(@ 0
(b) 5
(c) 7
(d) 3= >8I 77

7. i TeIRE M2 a8 b-a7 AL, 8 FALw.
INGEE h ¢ [ a4ne e h+l=a+b, 9
@’ +bP-99 T ZeT

(a) B+
(b) h+l

(c) W+
(d) w-P

8. ¥ TSI TR HLT G0 (I (=7 FAI
T(E BT ST (FY (O A 2 (2x+65)°
AR (6x—35)°; O x-93 W BF

(a) 25°
(b) 30
(c) 25
(d) 40°

9. AWM 2x=3y=47 T, @ x:y:7 TX
(a) 4:6:3
(b) 6:4:3
(c) 3:4:6
(d 6:3:4

10. (343224 3x+1)-F (x—1) 741 Sisl T
el 2@
(@ 1
() 0
(c) 2
d) 8



11. The number of diagonals of an octagon
is
(a) 12
(b) 18
(c) 10
(d) 20

12. The value of

1 1 1 1 .
NN N TN R S N BN
(@) 9
(b) 7
(c) 8
(d) V30

1
13. If r be real and Vr +—==2_ then the
N

value of r 2022+ 2022 ig
(@) 2
(®) 0
(© 1
(d) -1

14. If a + b + ¢ = 0, then the value of
(a* + b* + ¢*) + (a*b*+ b’c* + *a?) is
(@ 0
(b) 1
(c) 2
(d) -1

15.

See the above figure and find x.

(a) 72°
(b) 54°
(c) 36
(d) 54

11. 4% oFgrsa 9 72 2@
(a) 12
(b) 18
(c) 10
(d) 20

1 1 1 1

N O SN N O F N o
-E9 9 2&7

(a) 9
(b) 7
(c) 8
(d) /80

1
13. r <o e e qag Vr +T=2 , SI2E
p

F 202 4 202 g i 7w
(a) 2
(b) O
(c) 1
(d) -1

14. IWa+b+c=0=, 9=
(a* + b* + ¢*) =+ (a*b*+ b’c* + ¢*a? )-ag W9 2=
(@ 0
(b) 1
(c) 2
(d) -1

15.

Toitaa oaf oied x-93 W= e e |

(a) 72°
(b) 54°
(c) 36
(d) 54



16. If a, b, ¢, x, y, z are real and
(a—bx)*+(b—cy)*+ (c—az)*= 0, then the value
of xyz is

(@ 0
(b) 1

(c) -1
(d) abc

17. L.C.M. of two prime numbers x, y
(x>y)is 161. Then the value of 3y — x is

(a) 62
(b) 2
(c) -2
(d) -5

18. Inthe AXYZ, XY =15cm,YZ =112 cm

ZX = 113 cm. The right angle will be at
(a) X
(b) Y
(c) Z
(d) None is a right angle.

9)1 X 35 X (27)3

19. If .
3x(81)

=27, then the value of

n is
(@ 0
(b) 2
(©) 3
(d) 4

20. axb=2%" (given), then the value of

20222011 i
100%99
(a) 1024
(b) 2
(c) 4102
(d) 100

16. I a, b, ¢, x, y, 7 IBI T QR
(a=bx)*+(b—cy)y+ (c—az)*= 0=, 9@ xyz-9%
AN e

(@ 0
(b) 1
(c) -1
(d) abc

17. 96 o™ 451 x 8 y (x > y)-43 31w, 161
20, 3y — x-43 e 257

(a) 62
(b) 2
(c) -2
(d) -5

18. AXYZ-aaes XY=15cm, YZ=112 cm,
ZX = 113 cm (&, AN S[E @ A, @b
Egl

(a) X
(b)Y
) Z
(d) CFITT IR AT 7 |

9" % 35 « (27)3
3x(81)*

(@) 0

(b) 2

(c) 3

(d) 4

19. 37 = 2757, @ n 93 e T

20. axb=2%"(=w), wiggw 2022* 2011 oo
100%99
e 7
(2) 1024
(b) 2
() 4102
(d) 100



Physical Science

21. Which of the following relation is
correct?

(a) Applied force = Mass of the body
x its acceleration

(b) Applied force = Mass of the body
+ its acceleration

(c) Applied force = Mass of the body
x its velocity

(d) Applied force = Mass of the body
+ its velocity
22. In which temperature density of water
is maximum?
(a) 4°F
(b) 32°F
(c) 39-2°F
(d) 98-6°F
23. If an object is placed in between two
plane mirrors kept parallel and facing each
other, then the number of images formed will

be
(a) Three

(b) Two
(c) Infinite
(d) Five
24. Which of the following compound is a
weak electrolyte?
(a) NaOH
(b) CH,COOH
(c) H,SO,
(d) NaCl

25. Frictional force acts
(a) atanangle 45° to the force applied.

(b) in opposite direction to the force
applied.

(c) at right angle to the force applied.

(d) in the same direction to the force
applied.

[7]

SIS

21. Toa @ TFD Al
(a) 2¥& @ = LT ©F X G
(b) 2@ o1 = @ o + G99
(c) =& & = I%F O x oiferast
(d) =% Je1 = 9 o + oiferaal

22. (I TS GEFTH oG A ?
(a) 4°F
(b) 32°F
(c) 39:2°F
(d) 98-6°F

23. ¥ Tos wofel 22 FANSHITONE (@0
I TS F G G R, I 2ffefega
HRAP ]S

(a) foad
(b) a6

(c) =Yy
(d) =l

24, S5 (@R T @b gy efeeenT 2
(a) NaOH
(b) CH,COOH
(c) H,S0,
(d) NaCl

25. T4 I PG I
(a) oG 0T ACK 45° (Il |
(b) =& IR [7idre M |
(c) 2@ AT HC AP |
(d) =& IETE 92 SIS |




26. ‘X’ is an element. Atomic number of 26. ‘X’ @I @& | <X -9 Aol 7127t 82 |
‘X’ is 82. Which of the following will be an X-99 930 ABENEA T
[ t b f ‘X’?
isotope’ o @ U,

(a) 235U92
(b) 23 lThg()
(C) 208Pb82

(b) 231Th90
(C) 208Pb82

(d) °H,
(d) °H,

27. Heat required to melt 12 gm. of ice at 27. 12 &S 396 0°C-9 olfered ssjefamee ee
0°C into water completely is — (latent heat of TS FACS Ol AN (ITF S/ FAToliot =
fusion of ice is 80 cal/gm.) 80 iteTif/ &)

(a) 690 Calorie (a) 690 IR
(b) 700 Calorie (b) 700 T
(c) 940 Calorie (©) 940 WA
(d) 960 Calorie (d) 960
28. If the value of critical angle be 80° 28. < ST (AT Y A SR A oo0-a3

during refraction of light from denser to rarer I ALHG (I T 80° 3w, 2w (iera T
medium, then the value of angle of refraction 7@

will be o @) 80°
((E; 380 (b) 70°
oo (©) 90°
s (d) 0°

29. An equilateral triangle is formed with 29, fonf @2 4Iga I MChF we 7R G o
three identical rods of same metal. If the AN faee 515 41 71 | fageber Tee T

triangle is heated uniformly, (a) Tagrem GoeIaRR I ARae 5@ 1|

a) there will be no change of the o ~
@ angrlesv(x;lf the triangle. & (b) Tgorsa Arraler MR @I oo

(b) there will be no change of the Aol
length of the sides. (c) Tagred Cramrma @I ARRST T = |
(c) there will be no change of the area (d) ToiEE @IEDE o

of the triangle.
(d) None of the above



30. The vertical component of the Earth’s 30. T-HFFCHET AREDT THY TR ®[) 27

magnetic field is zero at the @ )
(a) magnetic pole. (BT G

(b) magnetic equator. (b) = R

(c) CoNaNfeTs et

(c) geographic pole.

(d) 45° latitude. (d) 45° orFiges!

31. Two bodies are in thermal equilibrium. 31. 7 T® SR AGY A, S CFd (I
They have identical ARG «E AR 2
(a) thermal capacity (a) SivAIZrel
(b) specific heat (b) It ©ist
(c) mass (c) &%
(d) temperature (d) storal
32. To electroplate an iron spoon with 32. N BN W 2w fMee S @i
Nickel, which of the following should be taken SIS 2o A ce 3@ e
as anode? (a) GTI2IE b
(a) Iron spoon (b) T wes
(b) Nickel rod (c) STEffmm 7o
(¢) Aluminium rod (d) SiFES we

(d) Graphite rod

33. Zn** +2e- —> Zn, this is 33. Zn** + 2 —> Zn, @6 @36
(a) an oxidation reaction. (a) el RfeE |
(b) areduction reaction. (b) faerze fafem
(c) a combustion reaction. (c) Wz f&fem |
(d) an endothermic reaction. (d) SR fRfe |
34. Fuse wire is made of 34. fFow ok (o =
(a) Iron and Nickel (a) @RS = ==l
(b) Lead and Nickel (b) FPl ¢ foesat =
(¢) Lead and Tin (c) PRIl o =i
(d) o5 ¢ @ ==

(d) Tin and Iron



35. The number of electrons present in ‘L’
shell of *Cl,_ is
(a) 2
(b) 7
(c) 8
(d) 17

36. What will be the volume of Oxygen
formed if 120 ml. of Hydrogen is obtained
during the electrolysis of water?

(a) 60 ml.

(b) 120 ml.
(c) 200 ml.
(d) 240 ml.

37. Number of Covalent bonds in Carbon-
tetrachloride molecule is

(a) 1
(b) 2
(c) 3
(d) 4

38. The main greenhouse gas is

(a) Methane

(b) Water vapour
(¢c) Nitrous oxide
(d) Carbon dioxide

35. $Cl a7 ‘L 0% SoAlye Qe 7l %
(a) 2
(b) 7
() 8
d) 17

36. S SfLLRTEAE T 2GS SO
120 ml. 2 €3 TR TAT SHCSER ST T ?
(a) 60 ml.
(b) 120 ml.
(c) 200 ml.
(d) 240 ml.

37. I COIEFRIZS S0 TG Il AL —
(a) 1
(b) 2
(c) 3
(d) 4

38. =idiw {27 2es Al 2=
(a) fSeaw
(b) & Aol
(c) WEGRT SIH2e
(d) << TizeEEe



Life Science

39. ORS [Oral Rehydration Solution] is
used for the treatment of
(a) Cholera
(b) Malaria
(c) Cornea transplantation
(d) Cardiac arrest

40. The tissue present in the zone of growth
and elongation of plant roots is
(a) Parenchyma
(b) Collenchyma
(c) Sclerenchyma
(d) Meristematic tissue

41. If Primordial Utricle is present in a cell,
it belongs to
(a) Bacteria
(b) Protozoa
(c) Fungi
(d) Plant

42. The food component which is present
in large amount, in soyabean is
(a) Carbohydrate
(b) Protein
(c) Lipid
(d) Vitamin

43. Nicobar Islands of India belong to the
Hotspot
(a) Sundaland
(b) Western Ghats
(¢) Indo-Burma
(d) Eastern Himalayas

44. If we see node-internode axil and flower
buds in a plant part, it can be termed as

(a) Root
(b) Leaf
(c) Stem
(d) Seed

G e

39. @ @ e ORS [e3F 2Ry«
T34 =S =3, ©f 26T
(a) STl
(b) TR
(c) Ffra afeziom
(d) FfCT SIS

40. Tfen TR TR SR @ FA AT, O
27
(a) “TEIE
(b) TR
(c) CFEHIE
(d) o =l

S

S (e

41. @ GF @i T AETwHieaE
oo 2F, SR @R @ 23
(a) LR
(b) c2NTIER T AR
(c) =alHd
(d) Sfema

42. @ A-Gomia T S sifesie A,
ol 75
(a) *F=
(b) 2w
(c) ferfore
(d) feBiftm

43. Siced FNERE SEeTS @ 2571061 TEefe
Ol 257

(a) FAETS

(b) #fea=IG o=
(c) -

(d) “F-feew

44. Tfema a6 ST T4 ALY, T @R
ST 9fIf7 (7l AF, e O A0
(a) 31
(b) sfrel
(c) Tle
(d) e



45. Anther contains
(a) Pollen grains
(b) Ovule
(c) Ovum
(d) Stamen

46. In which of the following diseases
platelet count drastically decreased?
(a) Malaria
(b) Dengue
(c) Plague
(d) Tuberculosis

47. Eskimos live in
(a) Desert
(b) Rain forest
(c) North pole
(d) South pole

48. Diatom is
(a) Unicellular algae
(b) Multicellular algae
(¢) Unicellular animals
(d) Multicellular animals

49. Cinnamon is actually
(a) Bark of stem
(b) Fruit
(c) Seed
(d) Leaf

50. The blood component which protect us
from disease is

(a) Red blood corpuscle
(b) White blood corpuscle
(c) Plasma

(d) Platelet

45. *IF9INIcS AT
(a) RNeIR9
(b) foz
(c) fomq
(d) =

46. =R @R S @9 @I Sp i
A (ABTEHA AR SIS FC TIT 2
(a) STicErRI
(b) vx
(c) cast
(d) ==

47. @FFER DR FCE
(a) RFERICe
(b) =i I (2 FEED)
(c) S
(d) FGrFCe

48. TGN 25
(a) AR TR
(b) I =i
(c) AT 2
(d) TZH e

49, 7 2 9lited
(a) ST = Tl I
(b) T=1
(c) e
(d) ==t

50. (ST @ THAML SNMW (@i9l 28T (AF
TH B, Ol 21
(a) @RS T
(b) csr® TGB!
(c) #rers

(d) wwpies



51. Which of the following hormones is
known as emergency hormone?
(a) STH
(b) Insulin
(¢c) Thyroxine
(d) Adrenaline

52. Curcumin compound is found in
(a) Cinnamon
(b) Turmeric
(¢) Cardamom
(d) Ginger

53. Brain of cell is
(a) Nucleus
(b) Mitochondria
(c) Plastid
(d) Golgi bodies

54. Which of the following is the example
of ex-situ conservation?
(a) Sanctuary
(b) National Park
(c) Reserve Forest
(d) Botanical Garden

55. An animal where Jacobson Organ is
present is
(a) Dog
(b) Ant
(c) Human
(d) Snake

51. faxfefee wmmelim T @ e

G RPN A A 2
(a) STH
(b) TPy
(c) A
(d) 0

52. FRRECH @9 Sofge AT
(a) WRFHRCS
(b) =z
(c) @@=
(d) smice

53. @I eE =5
(a) WefFam
(b) TG
(c) 2w
(d) e T8

54, fasfefas ==efas sy @G 93-5%
TRIHCER SWIEI 2
(a) ST
(b) wreiT Swpie
(c) AFMFS I
(d) B MG

55. @ AifE (@ (@ D6 (el T, i
Eol
(a) T4
(b) fl=ite
(c) @
(d) =net



History

56. ‘Permanent Settlement’ was introduced
by
(a) Lord Canning
(b) Lord Wellesley
(¢) Lord Cornwallis
(d) Lord Wavel

57. The first session of the Indian National
Congress was presided by
(a) Surendranath Bandyopadhyay
(b) Womesh Chandra Banerjee
(¢) Rashbehari Ghosh
(d) Dadabhai Naoroji

58. The author of the book‘Chaitanya-
charitamrita’ was
(a) Brindaban Das
(b) Rup Goswami
(c) Krishnadas Kabiraj
(d) Sanatan Goswami

59. ‘Dhaka Anushilan Samity’ was
established by
(a) Aurobindo Ghosh
(b) Pulinbehari Das
(c) Ullaskar Dutta
(d) Hemchandra Kanungo
60. Telengana peasant movement was
occurred in
(a) Hyderabad
(b) Andhra Pradesh
(¢) Tamilnadu
(d) Karnataka
61. ‘Dual System of Government’ was
abolished in
(a) 1765 A.D.
(b) 1773 A.D.
(c) 1772 AD.
(d) 1776 A.D.

56. T I IS FE
(a) =16 I
(b) TG @GR
(c) =T6 FeTifer
(d) =T eqres

57. SIS GO FLAGTE AAN =
Tolifog
(a) A TG

(b) TTIb™ G

(c) aFRRS @R

(d) Mol eTaGt

58. ‘epirene’ agta el e

(a) I 7

(b) el commisT

(c) TP SRR

(d) e CamRisT

59. Tl SIEEe AR 510 ColtEw
(a) SR™ IR
(b) sffFmf=id w
(c) THa ne
(d) o™ Pl

60. (ST I SNCwIEH 2R
(a) TR
(b) ST
(c) wifiTrgrs
(d) ==

61. T@e =P JE A q0B
(a) 1765 &5it
(b) 1773 f@3icw
(c) 1772 12&5i
(d) 1776 f@bicw



62. ‘Jatiya Mela’ or ‘Hindu Mela’ was
initiated by
(a) Debendra Nath Tagore
(b) Raja Rammohan Roy
(¢) Swami Vivekananda
(d) Nabagopal Mitra

The editor of ‘Hindu Patriot’ was
(a) Harishchandra Mukherjee
(b) Surendranath Bandyopadhyay

63.

(c) Iswarchandra Vidyasagar
(d) James Augustus Hicky
64. ‘Mahalwari’ system was introduced in
(a) Eastern India
(b) South and South-West India
(¢) North and North-West India
(d) Punjab

Who was known as ‘Frontier Gandhi’?
(a) Khan Abdul Gaffar Khan
(b) Maulana Abul Kalam Azad
(c) Chittaranjan Das
(d) Aurobindo Ghosh

65.

66.
is

The Upper House of Indian Parliament

(a) Rajya Sabha

(b) Lok Sabha

(¢) Bidhan Sabha
(d) Bidhan Parishad

67. ‘Alai Darwaja’ was built by
(a) Sher Shah

(b) Alauddin Khalji

(¢c) Ghiyasuddin Tughluq

(d) Muhammad bin Tughluq

62. TSR GE A v (el w3 I

(a) (TREIY S
(b) e AR AR
(c) =S Rl
(d) =M= fog

63. 25 205’ sifqa= soivs faraw

64.

(a) ZR™I6F SJCAleitrT
(b) I AN
(c) ruzmm RupPTaR
(d) Corm elRSi ol

TR AWIE 2] =
(a) 79 ®ras

(b) W @ nlFe-2IR63 ©iCe
(c) T&3 ¢ Te-7f6% ©iace
(d) g

65. TS &y M #Affoe furaw

(a) A1 S oTEReS 2

(b) Gl SN P ST
(c) foeags nixl

(d) s @

66. TSI AW CHICH I3

(a) TSl
(b) TSl
(ORERCER)
(d) fFae “ifzam

67. e vee i wae

(a) (srE=ig

(b) ST WETé
(c) TorPTewme g
(d) wzm e e



68. ‘Ain-I-Akbari’ was written by

69. The Precursor of Indian Civil Service

was

70. The Partition of Bengal was revoked on

71. ‘The Prarthana Samaj’ was founded by

72. The last Peshwa of the Maratha Empire

was

(a) Badauni

(b) Gulbadan Begum
(¢c) Abul Fazal

(d) Amir Khusro

(a) Lord Hastings
(b) Lord Cornwallis
(¢) Lord Mayo

(d) Lord Elgin

(a) 12th November, 1911
(b) 12th December, 1911
(c) 16th July, 1905

(d) 16th October, 1905

(a) Keshab Chandra Sen
(b) Atmaram Pandurang
(c) Mahadev Govind Ranade
(d) Kandukuri Veeresalingam

(a) Balaji Biswanath
(b) Bajirao I
(c) Bajirao Il
(d) Shivaji Maharaj

68. BH-2-INFI!” A6+l FCA
(a) TwrS!
(b) w&Tw« (I35
(c) et e
(d) SR 2R

69. ©ire Bifes AfSrR 2ss
(a) =T ZFH
(b) =T e
(c) =TS
(d) =G «@form

70. IFeT AR A
(a) 1249ce%9, 1911
(b) 12 o3, 1911

(c) 1692, 1905
(d) 16 =34, 1905

71. ‘A e 2fewt Feaa
(a) (@D e
(b) SN AT

(c) TRWA (aNfa™ e

(d) sl Saifemm

72. SIS AFCET AR ol oeere

(a) I feeial
(b) e JifEENe
(c) faorm aferane
(d) Mr=fer sr=er



Geography

73. Christmas is celebrated in
season in the south hemisphere.
(a) Summer
(b) Autumn
(c) Winter
(d) Spring

74. Which is known as the ‘roof of the
world’?
(a) Mount Everest
(b) Mount Karakoram
(c) Pamir Plateau
(d) Ladakh Plateau

75. Gorge is formed by course
of ariver.

(a) Upper or Mountain

(b) Middle or Plain

(¢) Lower or Deltaic

(d) All of the above

76. When the local time of a place is 4 p.m.,
the Chronometer shows 6 a.m. of that day.
Then what is the longitude of that place?

(a) 160° West
(b) 150° West
(c) 150° East
(d) 30° East

77. The process of self-restoration of
damaged environment is called
(a) Homeostatic mechanism
(b) Chemical mechanism
(c) Heterostatic mechanism
(d) Mechanical mechanism

78. One north-flowing river in Asia is
(a) Indus
(b) Ob
(c) Irrawaddy
(d) Yangtze

peate

73. Wi (ot el
HAleTe 41 2T |
(a) 8
(b) *A<
(c) <ire
(d) =%

74. “o|fRSE v QI AR &
(a) COG W5
(b) IR =5
(c) A= STl
(d) =wid ETS ™

75. fafaars tofs = wm
(a) T Al AY
(b) ¥ 1 ATSH™
(c) &5 at 73wt
(d) Ttz AR

AR

76. @I BT AT AN T2 [T 4(5, 94
GBI T €2 e 716 651 | ZI{Da Tifast v 2
(a) 160° sif<gx
(b) 150° =if*sx
(c) 150° sF

e

(d) 30° %7

77. Froes AR M (4@ Frald FAE
oI —
a) @Nesbhts ifem
(a)
(b) =fFE Ewifaes
(c) EEEPHIE Fife™
d) e Esifees
(d)

78. afizl SR @G TedaliEal a1 2@
(a) Prgam
(b) &7 7al
(c) 2AR! 77l
(d) 23T A




79. Suej Canal is an artificial waterway
which connects the
(a) Atlantic Ocean and Pacific Ocean
(b) Indian Ocean and Red Sea
(¢) Mediterranean Sea and Red Sea
(d) Indian Ocean and Atlantic Ocean

80. ‘International Court of Justice’ is
located in city.
(a) Amsterdam
(b) New York
(c) The Hague
(d) Venice

81. Primary waves passes through—
(a) Gaseous
(b) Solid
(¢c) Liquid
(d) All of the above

82. Who first invent ‘Continental Drift
Theory’?
(a) Pichon
(b) Wilson
(c) Alfred Wegner
(d) Parker

83. ‘Fossil’ is found in
(a) Igneous rock
(b) Sedimentary rock
(c) Metamorphic rock
(d) All of the above

84. Monsoon wind is a type of
(a) Local wind
(b) Planetary wind
(c) Periodical wind
(d) Irregular wind

79. S5 B e wEsiel 2e e 4iet | @fb
IG IFACZ—
(a) SGACT T2PTI9F € 2 TP
(b) SFT® TP € (FIfZS AoE
(C) TP € @FTIfRS ACE
(d) ©iFS T2 @ STeIGF TZPNE

80. ‘wrewifes ol REE
SRFS |
(a) SIPOIRG
(b) 8 T3
(c) WAl
(d) csfes

81. 2T oI= 2IES 2o A @ AE—
(a) oW
(b) o=
(c) =51

(d) Toitza e

82. WIHYR OrEd’ AN UG (F?
(a) focht
(b) T
(c) AT ST
(d) »IF=

83. SR (AT
(a) SN M
(b) =il =
(c) Feirefre Wem
(d) Toiaa e

84. ‘T AIY 251 AT
(a) ZR ARy
(b) frrs arg
(c) AR Ay
(d) wife=ifsre Ay



85. The rainfall is measured by
(a) Seismograph
(b) Raingauge
(c) Barometer
(d) Hygrometer

86. The home made by Eskimo in winter
season is called
(a) Igloo
(b) Tupic
(c) Kayak
(d) Harpoon

87. In which year ‘Chipko Movement” was
held?
(a) 1960
(b) 1963
(c) 1970
(d) 1973

88. The main river in Nepal is
(a) Kaligandok
(b) Meghna
(c) Irrawaddy
(d) Manas

89. ‘The Slaughter House’ of the world is
(a) Chicago
(b) Duluth
(c) Patna
(d) Bafello

90. The grazing land of Pampas grassland
is known as
(a) Granchako
(b) Estensia
(c¢) Lanos
(d) Matograsso

85. it wifzisl Tl =7

86.

87.

88.

89.

(a) PEIGHECE
(b) G

(c) AT
(d) e

IR ASPRA IPRCE A0
(a) 2ok

(b) T

(c) =

(d) ==

A ST T AN e ?
(a) 1960
(b) 1963
(c) 1970
(d) 1973

IR 2die Tt 2=
(a) FRANSTF

(b) Gretl

(c) ZTS

(d) =1

(a) fi=picsn
(b) T
(c) =M
(d) T

. 2T 9eTS i “lepiRel SRl IeN 27

(a) ABICH
(b) GBI
(c) Uit
(d) IR



Space for Rough Work



